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KHTE #HEER SM74£04A05H (LFEH)

KEBE=ERT. BMYDBOBBII—HEET S0, At REFENOBERNRIZ—HBLBWEELH D,

Y AR iEPS] B=H [Ekzikax: = BIHE
5 846 116,308 117,154 102 %
RxE 14,290 14,290 93 %
= 846 130,598 131,444 101 %
Bfi kg, M
" 5 . | wrm s ENFEflE
x| e g |REAE HEAR TEm Y= w0l =6 s e
HE(FWTA 26,960 |& W AAL 100 [T 10 972
I, 10
By 10
GiERS] 26,860 [T 10 | 1,620 1,404 1,296
ZHH, 10 | 1,404 | 1,296 | 1,080
£ 10 | 1,296 [ 1,080 972
M 638 | #Ext 638 | T 0.8
i 0.8
By 0.8
ICALCA 5,960 | #Ex 5,960 |25 10 | 3,564 | 2,484 1,728
FEE 10
BH 10 | 1,296 | 1,188
ZED 532 | #Ext 532 | E#* 4
REA 0.2
By 2
~iFo 452 [V AAL 12 |E#f 4 2,484 2,376
&k 4
BH 4
GERS] 440 |F#h 4 3,780 | 3,240 [ 2,700
& ] 4
By 4 3,780 | 2,484 | 2,160
F Y 10,020 |+ Y AAL 200 |1 10 864
A 10
£ 10
GERS) 9,820 |t &I 10 | 1,512 | 1,404 | 1,080
A 10 | 1,512 | 1,080
By 10
L&z 2,383 [€ W AAL 115 2% 10
K& 10
£ 10 864 540
GERS 2,268 |Z 10
RE 10
b 10 216 108
< 2,880 & W AAL 100 2% 13
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Hfi: kg, M
x| w4 HFEHE |RFTHE HEARR — ﬁﬂ#fﬁ% —
FEHR aniE Hi| =fE B =&
By 15
GRS 2,780 |2k, 13 | 1512 1,296
By 15
ZEON 735 | €Y AR 30 |23k 0.2 76
BER 0.5
By 0.5
iEpS 705 |ZxH, 0.2 54 43
ER 0.5
By 0.5
IE2>NAZD 1,392 | & W AL 25 | Zxim 0.2 130 108
PSS 0.2
By 0.25
iEpS 1,367 |2k 0.2 86 76
5 0.2 108
BH 0.25
hE 1,582 | #Exd 1,682 |+ 5 2,484 2,160
I, 5
By 5 3,456 | 2,916 | 1,944
Ewol) 5,722 [& W AAL 25 |35 5
BE 5
BH 5 1,944 | 1,620
GERS] 5,697 |B£E 5 2,160 1,944
BE 5 2,160 1,620
By 5 2,700 [ 1,296 | 1,080
N ESCR 7,890 (&Y AAL 80 |z2-v-5>¢ 10 | 1,836 1,620
sk 10
& 10
GERS 7,810 |za-v-5>¢ 10 | 2376 | 1,728 | 1,620
e 10
By 10
AN 5,990 (&Y AAL 43 | =0 0.4
& 4
BH 5
bS] 5,947 | &4%0 0.4
& ] 4
Ky 5 2,700 2,527
k< b 3,911 | #8x 3,911 [gEA 4 1,620 | 1,296 | 1,080
HAR 4
BH 4
TZhv b 953 | #Ext 953 [AER 3 1,620 | 1,404 | 1,296
A 0.2 108
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Bifif : kg, M
x| w4 HFEHE |RFTHE HEARR — ﬁﬂ#fﬁ% —
FEHR aniE Hi| =fE B =&
Z i 0.2 108 86
E—< 2,750 (¥ Y AR 58 |k 0.15 97
=y 0.13
By 0.15
iEpS 2,692 (23 0.15 97 76
= I 0.13
By 0.15
ZHED 1,650 | #Ex 1,650 |EE2 4 1,944 | 1,620 | 1,080
IR 4
B 4
BECFNAES 4,290 | 8% 4,290 |[ERS 10 | 4,860
e 10 | 4,320 | 2,376 | 2,160
BH 10
TDOFWH 3,665 | #Exd 3,665 |FE 5
24, 5 1,836 | 1,404 | 1,296
By 5
ToERE 8,210 | #@x 8,210 |dbiEE 20 | 2,484 2,376
EB 10 | 2,700 1,296
BH 20
mELWET 128 | #Exd 128 (#kH 0.1
=F 0.1 130 119 76
i 0.1 119 86 76
Z DI 18,561 [& U AAL 58
GERS 18,503
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Hfi: kg, M
x| w4 HFEHE |RFTHE HEARR — ﬁﬂ#fﬁ% —
FEH aniE Hi| =fE B =&
RE|HEHRDONA 2,880 | #@x 2,880 [REAS 10 | 1,944 1,728
FiE 10 | 2,160 | 1,944 | 1,836
B 10
3] P R A 1,200 | @ 1,200 =12 7
REAR 75
By 75
AFIN 732 | A% 732 [RER 5 3,240 | 1,836 864
RI& 5
By 5
BR 140 | #B% 140 |Z3E 10
=1 10
By 10
VAT 4,710 | #@x 4710 | 5% S L 10 | 8100 4,320 3,780
BH S 10
57 FAR 10
Wb 2,435 | #Ex 2,435 [#HAK b &8 |0.26
I, EbEH e |0.26 432 378 346
B EbEE8H 026 410 378
N EbHULH|0.26 432 194
&k HhEHH |[0.27
EB Wb XA [0.24
F fLIE->~ [0.28
T, fIF>~2 |0.26 378 292
it FLIEF->~2 025
T—ILZAAOYV 307 | Ax 307 (& 1
= A 9 | 10,800 8,640
i 8 | 12,960 [ 10,800 [ 5,400
ERRYA 54 | X 54 |gE 15
& 15
ZiEET 0 140 | A8t 140 | 8
g5
B H
ZDRE 1,692 | 48 1,692
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